Math 3 Hon: Unit 3 Review Name: é@(/
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I. Use the function f(X) =3x'+2x’ +9x* - 2x-8

a. What is the leading coefficient? a. - 3
b. What is the degree of the polynomial? b. H
c.Find f(=2) ._T32
d. Find all maximums and minimums: d. r&‘- max . (" \. Obl -1.19 3)
(label each as relative or absolute) rel. Mmin: ( -\, -9 “\ alos. mwx( ). ‘1’5) g %>
e. Describe the end behavior: €. As x—= b yi ‘\J ) —oo

X —0, Y= =&

II. Find if each binomial is a factor of the given polynomial.

3 2 3 2
1. Polynomial= X~ — X~ — 10x—-8 2. Polynomial= 2x" —5x" —28x+15
Binomial =x + 1 Binomial =x -5

\les \9/¢ Ceninder = O Yes ble romeinde =0

III. Graph Interpretation
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a. State the number of REAL zeroes: b a. State the number of REAL zeroes: H
b. State the number of COMPLEX zeroes: 0 b. State the number of COMPLEX zeroes: 2.
c. What is the possible degree? U c. What is the possible degree? (l
d. Is the leading coefﬁcier@or negative? d. Is the leading coefficient positive or
e. What is the End Behavior? X~ oo, 3 -~ ® e. What is the End Behavior?

— 0O
X~ ©, 5-—) oo X'—’ °°, —

X'--).—ool \34'—0"
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a. Degree? 5 a. Degree? "f
b. Leading Coefficient? E 05. b. Leading Coefficient? V\-Q/a:
-
c. Identify all Maximums: (-5 3) ( 3 > c. Identify all Maximums:
(-3,13) (*-&
d. Identify All Minimums: ( 0,=%) (3, -6) d. Identify All Minimums:
(1, —®)
Use Interval Notation: Use Interval Notation:
e. Where is the graph INCREASING? (' P, -5) (o, 3) e. Where is the graph INCREASING?
(5,) (—o,=3) (1,4)
f.  Where is the graph DECREASING? f.  Where is the graph DECREASING?
(-50) (3,5) (=3, 1) (4, o)
g. What is the RANGE of this graph? g. What is the RANGE of this graph?
(-0 9) (o, 137]
IV. Find exact values of all zeroes.
4 2 4 2
1. X' +3x°+2=0 2. 6x"+7x"=3=0
(= 2 - z 2
(x*¢2) [ x*y1)=0 (Bx*— Yax*+3) = 0
t_ . . (N 2
X" = Z X'= X = L X = -3/2

:‘.t'uf?l x= % Cﬁam

3. x1—6x+10x-8-9¢ "(’-‘f‘* ‘ 4, x3+3x2—26x—8=0@

I+

Wy - W -% 4y 2z -z -3
i ¥ -8 83 L 4 22 ¥ x= -1 41
. -2 & Lo N T 1 2z Lo T —
X~ —Z-"’z~ X*+1x +2 =0

Xt ax +7 =o

- 9+ 2; = a ¥ -4 (12
X= 2 ¥ {4-uX2) Xe2-2 X=a —

2 A
e X
V. Sketch a possible graph of f(x) = - 4(x — 3)(x — 1)*(x + 5)? ™




